5. Explain the following :
(i) Coagulation
(ii)) Brownian Movement
(ii1) Cataphoresis
frfafea =1 9=y
(i) A
(i) wRfEE wfq
(iii) e HeEer
6. Describe two methods for determination of crystal
structure.

fohedt WO I1d R &t ar fafti &1 ool SIS
7. () What do you understand by continuity of
state ?
S Widd ¥ M9 FA1 g © 2
(i1)) Write note on cooling by Joule-Thomson
effect.
SA-ATHEA FHE g Fiider W fewe fafe )
8. Discuss the effect of temperature on the rate of
reaction. How 1is the activation energy of a
reaction determined ?

Afuferar o1 W d™ & 99E st faa=sm wifsa) Afufsman
&I GiHaur S Y [ R ST T2

9. Give o methods for determination of order of
reaction.

AfYferan I Hife I HE KT S fafe=d w1 9o+
IS |
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Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.

et - w8 yea- ‘e’ ORI @ wvel § fawia §1 v
TUg & FEIER g9 & S S

Section-A 4x1.75=7
(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of
the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 1.75 marks.

Tug—3H
(fa oy 3T Uv)

o - fF=l 9 9w & SW Sfeu o9 et S Wl
UYIER Uk VeR, Uk a A1 Sifehan 30 veal H
R HfS ) g TR 1.75 TR H T
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1. (1) Find out slope of equation x — 2y + 3 = 0.

x—2y+ 3 =0 A FQ BTG
1
(ii) Evaluate Io xldx .
1
Io ¥’ dx 1 WA @
(i11)) What is ‘MICR’ ?
MICR 11 & ?

(iv) What is excluded volume ?

sTvafor e F ¥ ?
(v) Define Gold Number.
Ul T H GRIea i |
(vi) What is Interfacial Angle ?
STRRI%TIh IO T & 2
(vi1) Write an example of smectic liquid crystal.
@ 53 fhed &1 TH 3SR SIS |
(viii)) What do you mean by reaction rate ?
srfufsran a1 @ o9 9o gHea 2
Section-B 4x7=28
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries
7 marks.
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Tug—o
(g 3THT T99)

feor .- fosl 9 9ol & S SifSu) Y 9 SX I

sfrerae 200 vrgi W UREIfHa wifse) g 99d
7 31 #T B

2. (1) Add the binary numbers :

(1010), + (1100),

frafafeg st gemstt & Sifsy .
(1010), + (1100),

(ii)) Substract the following binary numbers :

(10001), - (1111),

frfafed Tt St &1 =Ry
(10001), — (1111),
(iii) Find out the value of "P,.

P, 1 WM A HISC

. Derive the equation :

{n+¢%}[3¢—1]:89

S S {ma[aq)—u:se # =y Ff

. Write short notes on the following :

(1 Thermography (i) Seven segment cell
frafafen = dfya femfirt fafen
(i) eHmTER (i) ¥« 've I
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